EAGRAROBREERT — 2 N— IBISH —F

2021568208 (B) 1EItLIR4E

R kX)) A

1752 $tEE

‘ [R1&] & ‘ [RERBE] — | Z (£) 12000 B

[~E4] 1% :7,600,000 ™ ~ 23 :3,000,00MH ~ 3&:

1,900,000 H . 4 7% :1,100,000 H 5 & : 760,000 M

& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
. s 3 | HHEEA 1:08.5 9-8 33.8 | 96.1 1 422 | BEHNT (EH)
1{7]9|E>77%Y # 52.0 fo o | &) $oFL_siy
:Frankel B:74I07—4—-1)>7 J—HrTy—LA
_ s -08. o . . wBEEZ (FXR)
2 4| T—F—2TY - i 3 L (12018/29) 7-5 344|916 | 6 (ﬁ;) e
RE-UR BU—TATY— RE L e
D 4 3 | BEAIEM 1:00. 9-11 34.2|90.7 | 9 438 | REHRA (EH)
3 3=/ Ty 52.0 (7E) (-g) | BELBEST
LibhwHFT—ILRK B:IZXF7 i xS
7 B4 | HAR— 1:09.0 3-3 34.9] 9.4 | 5 496 | BOEN (FER)
4|8[12| T-NT 17 8.0 (F) o | et
R:FATATv— BHPRRFyva aiutie]
s 4 | ANRAZ 1:09.0 2-2 35.1]90.4 | 7 408 | SFHE— (ER)
EH g| LX—FIN—-1t A52.0 (7€) (+12) |[DMMFU=LT5T (#)
X THANAIN BFTYTN— R HET77— L
i 4 | EHEBZ 1:09.1 5-5 34.8(89.4| 8 472 | ZREET (FBR)
6710/ 2 TEILT 1=/ 55.0 (7€) © |EhAE
R:F4—TTVI>F B:ehryzaT R LXK
=55 g = i 3 | HUKsE 1:09.1 12-11 34.2| 89.6 | 2 470 | AKED (EH)
71811 7TRZ7X>T 52,0 (742%) o |SEBE
LR TALT BRE—TANL =Ty —1I
AV s 3 | FRHER :09.1 1-1 35.3| 89.5 | 3 440 | FREFRA (EH)
8|11 AXEY LI 52.0 (INF) (-4) (&) /l:“v’fl/v K7 7—54
R:wYULgTyk B RY—LLF 2= 7 FH5
2 = o4 | EBLA 1:09.1 5-5 34.8| 89.4 | 11 | 426 |FOEHEEZ (i)
95|53~/ T A E-7 55.0 (7€) (-12) | B /=i F—#5TLy KR
xRy —b—A— B:YAZAAEES BEZ &Y K
= s 4 | Bulias 1:09.2 7-8 34.7| 88.4 | 10 | 442 |EBEEA (E#)
10/5]6| 7V FRE £58.0 (172 o) |BARIT
LYTIA NI N B RY—=3I>FN=FK Sl #BR
T 3 | EIlEE 1:09.4 9-8 34.7| 86.3 | 4 464 | KBE—R (FH)
11y 7 v b3—3 52.0 (1 1/4) (+1g) | HEE
LN—5—-vy 7 B:FaL1 b (B) A1 -FRL—->a>aEI7r
i N 4 5 | BEHED 1:09.5 3-3 35.4| 85.3 | 12 | 462 | AAMREL (RR)
12 2 7T —=IVN=Jb Y¢54.0 (3/4) -2) %Eﬂ%%
RiN—5—y7 B:AVSZZHAT J—H Ty — I
@ 71 L
) 46.0-34.7
NA>Z4 L | 11.9-10.6-11.3-11.4-11.4-11.9
® I —F—EBIERL
1T=7r=
230—F—
Fol=5r= 1,8(2,12) (5,10) (6,4) (3,9,7) 11
43 —F— 1,8(2,12) (5,10,4) (6,9,7) (3,11)
[ N3
BB 9 230M 714K 4-9 670M ) 4-7 1,540 JEHE 3-4-9 13,810
8 B 9 140M9 3-9 1,190H B = 4-9 1,690 3 E 9-4-3 44,3304
4 390H 3-4 4,660 B H 9-4 2,360
3 670M

ARICOVWTRDTEEERROODE. TR LIV,




